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100m
100m % 1 #8 100m % 2 ff
L=y | Fon— & & |BIR L=y | Fon— i & |%BIE
3 3[ 43 2109 4
4] 28 1778 2 4] 44 20%00 3
5/ 30 17807 1 5 47 19%1 1
6| 31 18%5 4 6| 48 2473 5
7| 42 18%4 3 7| 55 1952 2
100m % 3 #f 100m % 4 #i
L= | Fon— B2 & |BIE L= | Fon— & & |FE
3| 76 19#)3 4 3 2 1673 2
41 77 19fM1 3 4 6 1787 4
5/ 13 5 8 1776 3
6| 15 16%9 2 6 9 1671 1
7| 7 1688 1 7
100m % 5 #H 100m % 6 #H
L=y | F2N— & % |[BIE L=y | FonN— & &% |[AIE
3| 62 1785 2 3 25 1878 1
4 66 1576 1 4 38 20%)7 4
5 72 1971 5 5 40 19%1 2
6| 74 19%01 4 6
7| 27 1788 3 7| 64 1957 3
100m 5 7 #H 100m % 8 #H
L=y | F2n— i &% |BE| L [F— i B |BE
3| 68 1984 4 3 19 20%1 4
4] 73 1973 3 4 20 20%)7 5
5| 14 1782 1 5[ 21 1985 2
6| 16 1782 2 6 22 18%)1 1
7| 18 7| 23 19%b9 3




2/2

100m % 9 ff 100m 10 8

L= | F2N— & % |[BIE L=y | FoN— i & |[AIE
3| 58 1872 5 3[ 60 1675 1
4] 59 1675 3 4] 61 1782 3
5 5 1787 4 5( 69 1658 2
6| 11 1589 2 6| 75 18%5 4
7| 57 1587 1 7| 49 2301 5

800m E M= Bk

L—y | Fon— i & |&EIE BREEIE| 2/ N— iC % NE 2
1 1 37507 11 1 36 2m07cm 10
2 4 371171 3 2 39 2m41cm 9
3 12 349352 8 3 52 2m51cm 7
4 65 35226 5 4 56 2m50cm 8
5 29 3m21#0 4 5| 26 2m90cm 5
6| 33 343232 6 6| 35 2m64cm 6
7| 34 34r10%8 2 7 3 3m56cm 1
8| 4 37546 13 8 7 3m51cm 2
9| 45 3453%6 | 12 9 63 3mO1cm 4
10| 17 25534 1 10 67 3m21cm 3
1| 24 34r40%5 9
12| 46 372316 7
13| 51 354487 | 10
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BRERIB| >/ — i % g 452

1 53 90cm 1




